Reasoning EBook

This EBook Consists of 612 Questions and Answers with Detailed
Solution on Reasoning which is an essential part of all the Aptitude
Tests. The First 10 Pages consists of Questions and Answers. Complete
EBook consisting of Questions and Answers with Detailed Solution can
be purchased for $2.99 at

http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

The questions from 1-6 ask you to match definitions to particular situations. For
each question, you will be given a definition and four possible answer choices.
Read each definition and all four choices carefully, and find the answer that
provides the best example of the given definition. Answer each question solely on
the basis of the definition given.

1. Violating an Apartment Lease occurs when a tenant does something prohibited
by the legally binding document that he or she has signed with a landlord. Which
situation below is the best example of Violating an Apartment Lease?

(a) Tim has decided to move to another city, so he calls his landlord to tell him
that he is not interested in renewing his lease when it expires next month.

(b) Valerie recently lost her job and, for the last three months, has neglected to
pay her landlord the monthly rent they agreed upon in writing when she moved
into her apartment eight months ago.

(c) Mark writes a letter to his landlord that lists numerous complaints about the
apartment he has agreed to rent for two years.

(d) Leslie thinks that her landlord is neglecting the building in which she rents an
apartment. She calls her attorney to ask for advice.
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Answer: b. Valerie signed a legally binding document that requires her to pay a
monthly rent for her apartment and she has failed to do this for the last three
months. Therefore, she has violated her apartment lease.

2. It is appropriate to compensate someone if you have damaged his or her
property in some way. This is called Restitution.Which situation below is the best
example of Restitution?

(a) Jake borrows Leslie’s camera and the lens shatters when it falls on the ground
because he fails to zipper the case.When Jake returns the camera, he tells Leslie
that he will pay for the repair.

(b) Rebecca borrows her neighbor’s car, and when she returns it, the gas tank is
practically empty. She apologizes profusely and tells her neighbor she will be
more considerate the next time.

(c) Aaron asks Tom to check in on his apartment while he is out of town.When
Tom arrives, he discovers that a pipe has burst and there is a considerable
amount of water damage. He calls a plumber to repair the pipe.

(d) Lisa suspects that the pothole in her company’s parking lot caused her flat tire.
She tells her boss that she thinks the company should pay for the repair.

Answer: a. Jake damaged Leslie’s camera while it was in his possession and he
has agreed to compensate Leslie for the cost of the repair.

3. People speculate when they consider a situation and assume something to be
true based on inconclusive evidence. Which situation below is the best example
of Speculation?

(a) Francine decides that it would be appropriate to wear jeans to her new office
on Friday after reading about “Casual Fridays” in her employee handbook.

(b) Mary spends thirty minutes sitting in traffic and wishes that she took the train
instead of driving.
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(c) After consulting several guidebooks and her travel agent, Jennifer feels
confident that the hotel she has chosen is first-rate.

(d) When Emily opens the door in tears, Theo guesses that she’s had a death in
her family.

Answer: d. This is the only situation in which someone makes an assumption
that is not based on conclusive evidence. Choices a and c reflect situations in
which assumptions are made based on evidence. In choice b, Mary is not
assuming anything to be true. She is simply wishing that she’d made a different
decision.

4. A Guarantee is a promise or assurance that attests to the quality of a product
that is either (1) given in writing by the manufacturer or (2) given verbally by the
person selling the product. Which situation below is the best example of a
Guarantee?

(a) Melissa purchases a DVD player with the highest consumer ratings in its
category.

(b) The salesperson advises Curt to be sure that he buys an air conditioner with a
guarantee.

(c) The local auto body shop specializes in refurbishing and selling used cars.

(d) Lori buys a used digital camera from her coworker who says that she will
refund Lori’s money if the camera’s performance is not of the highest quality.

Answer: d. Choices a, b, and ¢ do not describe situations in which a product is
guaranteed. Only choice d reflects a situation in which a seller attests to the
quality of a product by giving the buyer a promise or assurance about its quality.

5. Reentry occurs when a person leaves his or her social system for a period of
time and then returns. Which situation below best describes Reentry?
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(a) When he is offered a better paying position, Jacob leaves the restaurant he
manages to manage a new restaurant on the other side of town.

(b) Catherine is spending her junior year of college studying abroad in France.

(c) Malcolm is readjusting to civilian life after two years of overseas military
service.

(d) After several miserable months, Sharon decides that she can no longer share
an apartment with her roommate Hilary.

Answer: c. http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

6. Embellishing the Truth occurs when a person adds fictitious details or
exaggerates facts or true stories. Which situation below is the best example of
Embellishing the Truth?

(a) Isabel goes to the theater, and the next day, she tells her coworkers she
thought the play was excellent

(b) The realtor describes the house, which is eleven blocks away from the ocean,
as prime waterfront property.

(c) During the job interview, Fred, who has been teaching elementary school for
ten years, describes himself as a very experienced teacher

(d) The basketball coach says it is likely that only the most talented players will get
a college scholarship.

Answer: b. The realtor is using a clear exaggeration when she states that a
house which is eleven blocks away from the ocean is prime waterfront property.

Answer questions 7 through 9 on the basis of the information below.

At a small company, parking spaces are reserved for the top executives: CEO,
president, vice president, secretary, and treasurer—with the spaces lined up in
that order. The parking lot guard can tell at a glance if the cars are parked
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correctly by looking at the color of the cars. The cars are yellow, green, purple,
red, and blue, and the executives’ names are Alice, Bert, Cheryl, David, and Enid.

The car in the first space is red.

A blue car is parked between the red car and the green car.
The car in the last space is purple.

The secretary drives a yellow car.

Alice’s car is parked next to David’s.

Enid drives a green car.

Bert’s car is parked between Cheryl’s and Enid’s.

David’s car is parked in the last space.

7. What color is the vice president’s car?

(a) green

(b) yellow

(c) blue

(d) purple

Answer: a. The vice president’s car cannot be red, because that is the CEO’s car,
which is in the first space. Nor can it be purple, because that is the treasurer’s
car, which is in the last space, or yellow, because that is the secretary’s. The
president’s car must be blue, because it is parked between a red car (in the first
space) and a green car, which must be the vice president’s.

8. Who is the CEO?

(a) Alice

(b) Bert

(c) Cheryl
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(d) David

Answer: c. The CEO drives a red car and parks in the first space. Enid drives a
green car; Bert’s car is not in the first space; David’s is not in the first space, but
the last. Alice’s car is parked next to David’s, so Cheryl is the CEO.

9. Who is the secretary?
(a) Enid

(b) David

(c) Cheryl

(d) Alice

Answer: d. Cheryl cannot be the secretary, since she’s the CEO, nor can Enid,
because she drives a green car, and the secretary drives a yellow car. David’s,
the purple car, is in the last space. Alice is the secretary, because her car is
parked next to David’s, which is where the secretary’s car is parked.

On 1st July 2007 the smoke-free law was introduced in England with the aim of
protecting employees in their places of work, and the general public in enclosed
public places, from the effects of secondhand smoking. These law changes mean
that all public transport and work vehicles used by more than one person must
now be smoke-free, nosmoking signs must be displayed in all smoke-free
premises and vehicles, and staff smoking rooms are no longer allowed; staff who
want to smoke must go outside. Local councils in England have the responsibility
of enforcing the law but it is the legal responsibility of the managers of smoke-
free premises and vehicles to make sure people don’t smoke. Individuals can be
fined or prosecuted for breaking the law and employers can be fined if they do
not display the no-smoking signs or if they allow smoking to continue on their
premises.

10. Secondhand smoking can cause lung cancer, bronchitis and other respiratory
diseases

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html



Reasoning EBook

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

11. Truck drivers working alone are not allowed to smoke under the new law

(a) True

(b) False

(c) Cannot say

(d)

Answer: Truck drivers working alone are not allowed to smoke under the new
law. Cannot say The passage states that as a result of the new law, work
vehicles used by more than one person must be smoke-free, however the
passage does not tell us explicitly that the law extends to lone truck drivers (it
just fails to mention either way), so we cannot say without further information.
12. It is no longer legal for internal smoking rooms to be provided for employees
(@) True

(b) False

(c) Cannot say

(d)
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Answer: It is no longer legal for internal smoking rooms to be provided for
employees. True The passage states that “staff smoking rooms are no longer
allowed; staff who want to smoke must go outside”. Employees are the same as
“staff” so we are in effect told this statement is true.

A survey by the Confederation of British Industry (CBI) has shown that whilst
employees use the internet mostly for work, they spend on average an equivalent
of ten days a year using the internet for personal use during working hours. The
survey of more than 500 member organisations found that this is costing the
country over £10 billion a year in lost business. Extreme examples include one
employee who spent all day playing a fantasy game on the internet and another
who ran his own internet buying and selling business on his office computer. Both
have been dismissed. A different survey of nearly 800 office workers conducted
by Global Secure Systems revealed that on average staff spend half an hour a day
on social networking sites during working hours. Some companies, however,
condone the use of the internet for personal use, especially social networking
sites. Indeed, the deputy director general of the CBI, John Cridland, believes that
sensible use of the internet can improve productivity and morale.

13. The CBI survey found that employees spend an average of ten days a year
using the internet for work-related business

(a) True

(b) False

(c) Cannot say

(d)

Answer: The CBI survey found that employees spend an average of ten days a
year using the internet for work-related business. False The CBI survey found

that employees spend an average of ten days a year using the internet for
personal use, not work-related business. The passage states that the survey
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found that employees use the internet mostly for work. It can be taken from the
passage that ‘mostly’ is more than the 10 hours spent on personal use.

14. One employee was dismissed for playing Second Life during working hours

(@) True

(b) False

(c) Cannot say

(d)

Answer: One employee was dismissed for playing Second Life during working
hours. Cannot say We are told that an employee was dismissed for playing a

fantasy game, but the game is not named.

15. A survey found that staff sometimes visit social networking sites during
working hours

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetestsdme.com/Buy Reasoning Ebook.html

16. The CBI allows personal internet use as long as it is a social networking site
(a) True

(b) False

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html


http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html

10
Reasoning EBook

(c) Cannot say

(d)

Answer: The CBI allows personal internet use as long as it is a social networking
site. Cannot say

Computer Vision Syndrome (CVS), eye strain due to frequent viewing of computer
monitors, has developed into a major health issue for office workers during the
last few years. There are, however, a few simple things workers can do to reduce
CVS. One obvious one is to get frequent eye tests. Practical considerations include
making sure the light coming from outside or the office ceiling lights are not too
bright, reducing glare, adjusting the brightness of the computer screen so that its
brightness is similar to that of the office, and adjusting the screen text size and
colour for maximum comfort. For your own comfort make sure you blink often,
exercise your eyes by looking away from the screen every few minutes and take
real breaks away from the computer screen at least once an hour.

17. CVS has been a major health issue for over thirty years
(@) True
(b) False

(c) Cannot say

(d)

Answer: CVS has been a major health issue for over thirty years. True False
Cannot say There are actually two reasons for not being able to determine
whether this is true or false. The most important is that the passage tells us CVS
“has developed into a major health issue for office workers” whereas the
question is asking about people generally. We are not told about CVS in non-
office workers. The other reason this would be difficult to determine as
certainly true or certainly false is that we are not told when the passage was
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written. Depending on when it was written would make the statement either
true or false.

18. Having the correct combination of lighting factors helps to reduce CVS
(a) True

(b) Fasle

(c) Cannot say

(d)

Answer: http://www.aptitudetestsdme.com/Buy Reasoning Ebook.html

19. The regular use of eye drops can help relax the eyes and reduce the effects of
CVS

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Surgeons and researchers in three countries recently collaborated to perform the
world’s first transplant of a body part using stem cell technology. A 30 year old
Colombian woman, Claudia Castillo, was left barely able to breathe following a
tuberculosis infection that had damaged the branch of the trachea leading to her
left lung. Doctors in Spain took a section of windpipe from a deceased person, and
then researchers in Italy purged the donated windpipe of all its cells to leave an
empty frame of tissue. A team of doctors in Bristol grew stem cells from Ms
Castillo’s own bone marrow which the Italian doctors then coated onto the frame
of the section of donor windpipe. The section of windpipe was then transplanted
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into the patient’s body. After five months, the patient is well and shows no signs
of the rejection normally associated with transplants.

20. Transplants using stem cell techniques are an established part of human
transplant surgery

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

21. In the future this kind of transplant will be possible without the need for a
donor

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

22. The stem cells used in Ms Castillo’s procedure belonged to her
(@) True

(b) False

(c) Cannot say
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(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

What used to be called G7, the summit of the world’s seven richest economies,
has increased in members to now include the world’s twenty richest economies.
The new larger group, the G20, met in Washington DC in November 2008. These
twenty economies between them represent 90% of global GDP. The main topic on
the agenda, of course, was the global financial crisis. The results of the meeting
were disappointing as the leaders did not reformulate global finance; neither did
they agree on a co-ordinated fiscal boost to fight the economic recession. They
did, however, agree to refrain from raising new trade barriers. This agreement did
not last long as, within 48 hours, Russia had raised its tariffs on imported cars.
Most agree the meeting was worthwhile and the twenty countries will meet again
before the end of April. So it seems that G7 is now part of history.

23. The leaders of the world’s seven richest economies will no longer meet
together in future

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

24. In November 2008, Russia was one of the world’s twenty richest economies
(a) True

(b) False
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(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

25. Russia, China and India were all represented at the G20 summit
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

The new Apple iPhone, available in the UK from July 2008, is a combined mobile
phone, iPod and web browser, using the 3G phone network for faster surfing of
the internet. Initially 02, Apple's exclusive UK mobile phone provider, charged
customers an up-front fee for the iPhone, but it could soon be offered for free for
those who pay a tariff of £75 a month. It could also be available on a pay-as-you-
go basis. The new phone has sold well in the United States, but sales in Europe
have been slow owing to the high price. Also the price of the older 8GB version
has been drastically reduced making it a more attractive option for some buyers.

26. The Apple iPhone is available in the UK through 02, Vodafone and Virgin
Mobile

(@) True
(b) False

(c) Cannot say
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(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

27. The iPhone could soon be available free for some customers
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

28. The high price of the new iPhone has increased sales of the older version
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Originally estimated in 2005 to cost £3bn, the revised cost of the 2012 London
Olympic Games had risen to £9bn by 2007, and must by now have risen still
further. Can these amounts to host a sporting event over seventeen days be
justified in the present economic environment? In its defence, the Mayor of
London, Boris Johnson, has commented that London was "extremely fortunate"
to be hosting the games in the current economic climate. Lord Coe, chairman of
the 2012 organising committee, agrees and has suggested that the games could
help London and the country to get through the recession. Billions of pounds
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worth of contracts are currently available, providing work to safeguard the jobs of
more than 3,500 people now working on the games’ building sites, 10% of whom
had previously been unemployed.

29. The estimated cost of the 2012 Olympic Games trebled between 2005 and
2007

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

30. The Mayor of London doubts the wisdom of London hosting the games in the
current economic climate

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

31. Employment resulting from the games has provided jobs for at least 350
previously unemployed people

(a) True
(b) False
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(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

32. Sebastian Coe is a former Olympic runner, and the winner of the 1500 metres
races in both Moscow and Los Angeles

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Can you imagine life vests for polar bears, or bulletproof vests for Bengali tigers?
These are just two of the ideas proposed by the Swedish company ADDI Concepts
to raise awareness of the plight of endangered species. Global warming has
caused melting of the Arctic ice, which in turn has reduced the size and number of
ice floes. Having to swim greater distances between ice floes to find food, more
and more polar bears are drowning. ADDI Concepts has designed a life jacket to
help polar bears stay afloat. Similarly, owing to illegal hunting, the world’s
population of Bengali tigers has declined by 95% over the last one hundred years.
Maybe a bulletproof vest for tigers is the answer. The company does not offer
these ideas as direct solutions for the problems, but rather to raise awareness
and inspire action.

33. The world’s population of polar bears is decreasing owing to illegal hunting
(@) True

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html


http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html

18
Reasoning EBook

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

34. Global warming has increased the distances between ice floes
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

35. ADDI Concepts’ main reason for developing life jackets for polar bears and
bulletproof vests for tigers is to raise awareness of endangered species

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

36. Changing the law on the hunting of Bengali tigers would have no effect on the
number that are hunted
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(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Studies conducted at the University of Otago, New Zealand, have shown that
children who watch television for more than two hours a day face increased
health problems later in life, including obesity, high blood cholesterol and heart
problems. It is a well-researched fact that obesity can be caused by poor diet or
by a lack of physical exercise, but watching television seems to have a more
significant link to obesity than other sedentary activities such as reading, writing
or driving. Researchers at Harvard have discovered that watching television slows
the metabolism and causes fewer calories to be burned than these other
activities, and there seems to be a negative correlation between the metabolic
rate and the number of hours of TV watched. Many families eat their evening
meal in front of the television and watching television also encourages
unnecessary eating of snacks.

37. Watching television as a child causes obesity and other health problems later
in life

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html
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38. Research has shown that watching television burns fewer calories than
reading

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

39. Food advertisements on the television tempt viewers to eat more
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

With the world’s finite resources of oil rapidly being depleted, solutions are being
sought to extend the lifetime of available oil. One idea being proposed is the use
of carbon credits. The Environmental Audit Committee considers such a scheme
to be more effective than imposing taxes for excessive carbon emission. Taxes,
such as a petrol tax, would relatively affect poor people more since everybody
(both rich and poor) would pay the same amount. The carbon credit system, on
the other hand, is fairer and would engage the population in the fight against
climate change. Under the scheme, companies would be given an annual limit for
the amount of fuel and energy they use. If they exceeded that limit, then they
could purchase credits from other companies who have used less than their

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html


http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html

21
Reasoning EBook

quota. This scheme, also called ‘carbon trading’ is likely to be unpopular with the
public and the government has decided not to go ahead with it for the moment.

40. A tax on petrol would be felt by poorer people more keenly than wealthy
people

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

41. A carbon credit system would ensure that the world’s resources of oil would
never be depleted

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

42. A company that uses less than its quota of carbon credits can sell some to
another company that has exceeded its quota

(a) True

(b) False
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(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

The Wootton Report of 1968 concluded that cannabis smoking is basically
harmless. A British Medical Association report of 2007 reported that cannabis can
have a therapeutic value in the treatment of certain medical conditions. Another
independent study by the Joseph Rowntree Foundation in 2002 concluded that
relaxing the cannabis laws and reclassifying it as a Class C drug could save the
police £38 million a year and improve relations between the police and the
community. Yet today it is still classified as a Class B drug; it is illegal to grow,
possess or supply the drug. If caught in possession, offenders can be jailed for 5
years; 14 years for trafficking. The number of adults using the drug has doubled in
the last decade to around 4 million. They consume around 800 tonnes and spend
£3.5 billion every year. The main argument against the use of cannabis is that it
can lead on to the use of harder drugs.

43. The Wootton report recommended reclassifying cannabis as a Class C drug
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

44. A British Medical Association report of 2007 suggested that there can be
therapeutic value in using cannabis to treat some symptoms which could not be
alleviated with normally prescribed medication

(@) True

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html


http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html

23
Reasoning EBook

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

45. Offenders can be jailed for 5 years for being caught in possession of cannabis
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

46. A study by the Joseph Rowntree Foundation has concluded that reclassifying
cannabis as a Class C drug could result in savings for the police but would
compromise relations between the police and the public

(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html
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In a study of 3,000 employed men in the 19-70 age range over a period of 10
years, researchers found that those working for inconsiderate bosses were more
likely to suffer from stress and stress-related illness than those working for more
considerate and enlightened bosses. Previous research had shown that
employees with inconsiderate bosses suffered from high blood pressure which is
known to increase the risk of heart disease. In the latest survey the researchers
asked employees to assess the competence of their bosses as leaders. They found
that those who had categorised their boss as incompetent were 25% more at risk
of serious heart disease and that this level of risk increased the longer they
continued to work for the same boss. The statistics took into account external
factors such as social class, educational background, lifestyle and any existing
illness. The researchers recommended that should their findings be confirmed,
managers should be given training to help them improve their working
relationships.

47. Twenty five percent of the 3,000 men in the study group suffer stress due to
inconsiderate bosses

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

48. Managers should be given training to help them improve their working
relationships

(@) True
(b) False

(c) Cannot say
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(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

49. There is a link between high risk rates of cardiac illness among employees that
have incompetent bosses

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

There are two studies referred to in the passage. The first study mentions
inconsiderate bosses and high blood pressure as actual findings. The second study
discusses incompetence and the risk of cardiac illness. However, it only discusses
the employees' perception of their bosses as being incompetent — it makes no
objective claim to have shown that the bosses were in fact incompetent.

The European Space Agency (ESA) is the body which decides the scope and
direction of European space initiatives. It is funded by its participating states,
currently 18 in number. Each contributes according to its own economic power.
The body controls the funding of existing activities such as the Planar rocket and
space station projects but is also responsible for the initiation of new projects like
a new generation of weather satellites. Some of the programmes are compulsory
but others are not and member states are free to choose in which of the latter
they will become involved. There is a direct correlation between the amount of
money that a state agrees to invest in a programme and the amount of benefit it
can expect in return through contracts awarded to its domestic space industry.
ESA directors are keen to maintain a high level of funding from its member states
even in times of global economic downturn. They believe that a longer term view
is needed.
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50. Space industries in the larger ESA contributor member states get more work
from the ESA than the smaller contributors

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

51. Even in tough economic times, ESA directors wish to maintain a high level of
work flowing through to the space industries of member states.

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

52. Member states can choose to spend their money on the Planar rocket or new
weather satellites

(@) True
(b) False

(c) Cannot say
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(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

53. The temperature on Monday was lower than on Tuesday.
The temperature on Wednesday was lower than on Tuesday.
The temperature on Monday was higher than on Wednesday.
If the first two statements are true, the third statement is

(a) true
(b) false

(c) uncertain
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

54. Spot is bigger than King and smaller than Sugar.

Ralph is smaller than Sugar and bigger than Spot.

King is bigger than Ralph.

If the first two statements are true, the third statement is

(a) true
(b) false

(c) uncertain
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

55. A fruit basket contains more apples than lemons.
There are more lemons in the basket than there are oranges.
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The basket contains more apples than oranges.
If the first two statements are true, the third statement is

(a) true

(b) false

(c) uncertain
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

56. The Shop and Save Grocery is south of Greenwood Pharmacy.
Rebecca’s house is northeast of Greenwood Pharmacy.
Rebecca’s house is west of the Shop and Save Grocery.

If the first two statements are true, the third statement is

(a) true

(b) false

(c) uncertain
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

57. Joe is younger than Kathy.

Mark was born after Joe.

Kathy is older than Mark.

If the first two statements are true, the third statement is

(a) true
(b) false
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(c) uncertain

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Kangaroo culling is a controversial issue in Australia, where the government has
implemented culls to control populations. The issue is particularly emotive
because of the kangaroo’s status as a national icon, with some detractors viewing
the culls as an attack on Australia’s identity. Although indigenous to Australia,
kangaroos are, in some areas, threatening the grassland ecosystem. Overgrazing
causes soil erosion thus threatening the survival of certain rare species of lizard.
Furthermore, in overpopulated areas, food scarcity is driving kangaroos to
damage wheat crops. Protesters typically oppose the cull on grounds that it is
inhumane. Instead, they favour the relocation of kangaroos to suitable new
habitats, or sterilizing the animals in overpopulated areas. Sterilization, however,
will not have an immediate effect on the problems of limited resources and land
degradation. Not only is transporting large numbers of kangaroos an expensive
undertaking, critics believe it would potentially traumatize the relocated
kangaroos and ultimately threaten the new habitat.

58. The majority of animal rights activists oppose the Australian government’s
policy of kangaroo culls

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html
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59. The foremost argument against culling kangaroos is that it threatens
Australian national identity

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

60. Kangaroos present a threat to agriculture as well as to the ecosystem
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

61. In overpopulated areas where food is scarce, kangaroos are preying on rare
lizards

(a) True

(b) False

(c) Cannot say
(d)
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Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

62. Sterilization is an inadequate solution to habitat destruction
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Plastics represent the fastest-growing category of waste. Worldwide consumers
use 500 billion plastic shopping bags and drink 154 billion litres of bottled water
annually. The majority of these bags and bottles are made from polyethylene
terepthalate (PET), a plastic derived from crude oil. Because PET takes over 1,000
years to degrade and leaks dangerous chemicals into the soil, many communities
have instituted recycling programmes to reduce the amount of plastic destined
for landfill. However, recycling plastic is not a perfect solution. Firstly, there are
many different types of plastic, and sorting them makes recycling labour-
intensive. Secondly, because the quality of plastic degrades with each reuse,
recycled plastic has a low value. For economic reasons, most of Europe’s plastic is
shipped to China for recycling processing. The downside to this is that the
transportation consumes large amounts of energy and working conditions in the
Chinese processing factories are poor. While recycling plastic may salve the
conscience of western consumers, reducing plastic proliferation is a better
solution.

63. Plastic recycling is more profitable to process in China than in western
countries

(a) True
(b) False
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(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

64. The passage suggests that finding alternatives to PET is a preferable solution
to recycling

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

65. There are both environmental and economic drawbacks to recycling plastic
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

66. The proliferation of shopping bags and water bottles has made plastic the
fastestgrowing category of waste

(@) True
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(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

67. Plastic recycling does not extend the life of the material indefinitely
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Britain is still firmly committed to the EXOMars Robot project even though the
scope and the cost have grown in the three years since it was first initiated. The
shape of the project has changed dramatically, mainly due to the increased
expectations of scientists. According to the ESA, this change in direction justifies
the almost doubling of the original budget. The increased cost will, however, have
to be met by the participating countries that originally signed up to fund this
programme. Both Italy, the project leader, which provided much of the initial
programme funding, and Britain, will have to significantly increase their share of
funding for this project. Britain considers that this project makes the most of its
expertise in robotics. To date Britain has not been involved in other high-profile
ESA programmes such as the Columbus science laboratory and the Ariane Rocket
project. The ESA now hopes to send the robot to Mars in 2016.

68. Italy and Britain are covering the cost of the ESA's EXOMars Robot project and
the costs have risen significantly over the past three years
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(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

69. Britain has accepted that the change in mission direction justifies the near
doubling of the budget

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

70. Historically, Britain has tried to avoid ESA high-profile missions
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html
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Some commentators argue that in times of global economic uncertainty
governments should be boosting flagging economies by investing in major
infrastructure projects. Many people are of the opinion that governments should
grasp the opportunities presented to tackle global climate change at the same
time as stimulating the economy, by using this public sector investment to move
towards a new low-carbon infrastructure which would be an effective way of
reducing carbon emissions and of ensuring security of energy supplies. They claim
investment is needed in projects like renewable energy generation, modernising
buildings to be more energy efficient, improving transport networks and even
building pipelines to carry captured CO2 to undersea storage facilities. They
acknowledge, however, that the political will has to be found and that this has to
be done on a global level if positive results are to be realised.

71. Some commentators believe the best way to boost a flagging economy would
be for governments to invest in major 'green'-related infrastructure projects

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

72. Some people believe that a flagging economy should be good for 'green'
projects

(@) True
(b) False

(c) Cannot say

(d)
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Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

73. Renewable energy generation projects will have a positive impact regardless
of their scale

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

Existing targets for reducing carbon emissions worldwide acknowledge that the
current high levels of greenhouse gasses in our atmosphere are an accumulation
over many decades that can be directly attributed to today's developed
economies. This situation has led to developing economies like India, China and
Mexico having less aggressive targets for emissions reduction than the developed
countries. There is concern though that unless these large emerging economies
are fully committed to reducing carbon emissions, their desire for rapid economic
growth coupled with less stringent emission targets will encourage them to
continue to use traditional production methods rather than introduce cleaner and
more sustainable technologies. If the reduction of carbon emissions worldwide
has any hope of success, the emerging economies must be able to contribute on
an equal basis to the decision making processes which will determine how this is
to be achieved.

74. Developing economies have less stringent emissions reduction targets than
developed economies do

(a) True
(b) False
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(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

75. The developing countries will resist any move to stricter emissions targets
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

76. Currently, developing economies produce less carbon dioxide per year than
developed countries do

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Some studies of temperatures around the world have found that global warming
is speeding up and claim that the 1980s and 1990s were the hottest decades for
the past 400 years. The average global temperature has gone up by 0.8°C in the
past 125 years, from 18°C. Some areas of the Arctic across Russia and Canada
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have had an increase double that of the global average increase, shooting their
temperatures up to 13°C. The changes resulting from shorter, warmer winters are
affecting all aspects of life for the indigenous Inuit people. The ice melts faster
restricting access to hunting sites and making it harder to find the basic building
material for the igloos widely used on hunting trips. This is causing difficulty for
the Inuit, as hunting is their primary food source.

77. The Inuit of the Arctic region are building fewer igloos on hunting trips
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

78. Studies have found that the temperature has doubled in some areas of
Canada

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

79. The INUIT people obtain all their food from hunting
(@) True
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(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

In an effort to preserve fishing stocks, for many years the European Union has
used a quota system to regulate the amount of fish that can be taken out of the
North Sea. This involves defining the tonnage of the various types of North Sea
fish that each EU member country can take. As soon as the catch is landed - but
not before - fishermen can be fined for landing more fish at their port than their
guota permits. Each year fisherman dump thousands of tonnes of fish back into
the sea either because they have reached their quota and don’t want to be fined
or because the fish are too small to be caught legally. Some environmental groups
feel that existing approaches are not working since these fish are already dead
and throwing them back serves no real purpose. They believe that other steps
need to be taken to conserve North Sea fishing stocks and avoid depletion.

80. Fish stocks in the North Sea are nearly exhausted
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

81. Some environmental groups think new conservation methods are called for
(@) True
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(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

82. Fishermen can be fined for catching too many fish
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Biofuels are now being used worldwide and supporters claim that they are a
sustainable, renewable and cleaner alternative to traditional fossil fuels like coal
and petroleum, supplies of which are becoming exhausted. Biofuels are
increasingly used in the transportation sector. The main producers of biofuels are
in Asia, Europe and America. They can be produced from any carbon source
including landfill gasses and recycled vegetable oil but most of the biofuels
produced around the world is derived from photosynthetic plants. The two main
types of plant used in production are those high in sugar, which are fermented to
produce ethanol, and those high in oil, which have the oil extracted and heated to
reduce viscosity. Burning biofuels releases the same amount of CO2 that the
plants took out of the environment when growing so there is no net increase in
levels of atmospheric carbon.

83. Biofuels can be used to power aircraft
(@) True
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(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

84. Plants high in oil can have their oil heated to make it flow more freely
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

85. Ethanol can be produced from photosynthetic plants with high oil content
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Many businesses now recognise that there are wide-ranging benefits to be gained
from offering their workforce flexible working arrangements. These arrangements
can include being able to work from home, job sharing, part time working and
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being able to choose when to complete agreed hours, for example through
working fewer but longer days, or working flexitime. Employees able to adopt
flexible working are better able to balance work and family commitments and are
therefore happier at work, experiencing greater job satisfaction. They are also
more motivated and less likely to leave. For businesses, they reap the benefits
through productivity increases, and greater cost-effectiveness. Staff recruitment
costs are not insignificant to businesses. Customers can benefit too as businesses
are better able to react quickly to changes in the market. All employees now have
a statutory right to request flexible working arrangements. The law extends as far
as insisting employers consider and respond to these requests within a predefined
timescale.

86. Parents able to adopt flexible working experience better job satisfaction
because they can better balance time between work and family commitments

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

87. Employees have a legal right to flexible working arrangements if they want
them

(a) True

(b) False

(c) Cannot say
(d)
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Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

88. Employers can reduce recruitment costs through introducing flexible working
hours

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

There have been three major influenza pandemics over the last century. The first
and most severe was the Spanish flu of 1918 that infected half of the world’s
population and from which around 50 million people died. The next was the 1957
Asian flu which also infected nearly half of the world’s population, but the
number of fatalities was lower: about % of a million in total. The third was the
Hong Kong flu of 1968-69 which was the cause of between 1 and 3 million deaths.
To put these figures into perspective, the more recent but more widely reported
outbreaks have been comparatively small. It must also be remembered that
between % and % million people worldwide die of seasonal influenza every year.
Better communication worldwide in the last few decades means that new strains
of flu become worldwide news very rapidly, but it also means that governments
can quickly put into effect measures to help prevent the spread of the disease.

89. The world's population in 1918 was less than 80 million
(@) True
(b) False

(c) Cannot say
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(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

90. The Hong Kong flu pandemic of 1968-1969 had the second highest death toll
from flu in the last century

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

91. Major flu pandemics occur at least three times a century
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

92. Modern communication helps to prevent the spread of flu pandemics
(@) True
(b) False

(c)
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(d) Cannot say

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

With increasing costs of fuel and environmental concerns, hybrid cars are the way
of the future. Hybrids provide both improved fuel economy and reduced
emissions. Hybrid cars use a petrol engine and an electrical energy storage device,
usually a battery of nickel-metal hydride cells. When a large amount of energy is
required, the two work together; when a lesser amount of energy is required (at
lower speeds around town), the stored electrical energy powers an electric
motor. You won’t notice much difference from a conventional car when you drive
a hybrid, except that there will be very little noise at low speeds. What you will
notice, however, is the improved fuel economy and dashboard displays that
inform you about the energy flow and fuel consumption. Most hybrid cars have
shown reduced greenhouse gas emissions of around 25% compared with a petrol
car of a similar type, and use 15% to 30% less fuel. The purchase price of a hybrid
is around 10% more than a similar-sized petrol-driven car, but the saving in the
use of fuel should soon pay for the difference.

93. The only source of propulsion in a hybrid car is an electric motor
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

94. Hybrid cars use less fuel and are more economical than conventional petrol-
driven cars

(@) True
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(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

95. The nickel-metal hydride cells add around 10% onto the cost of a hybrid car
compared with a similar conventionally-powered car

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Cyberbullying is a relatively new phenomenon. It occurs mainly among young
people, especially teenagers, and has replaced traditional forms of physical and
verbal bullying, presumably because it can provide some anonymity and is seen to
be ‘at a distance’. The main types of cyberbullying are by direct contact through e-
mails, instant messages or the use of mobile phones for texting or sending
photographs or videos. However, increasingly we are seeing the use of social
networking sites where bullies make fun of victims or even get hold of their
messaging accounts and chat to people pretending to be the victim. Cyberbullying
can be more harmful than traditional forms of bullying since it happens at home
(where victims should feel safe) and can involve many bullies at once. In the world
of modern communication, cyberbullying is difficult for the victims to escape
from.

96. You are more likely to be a victim of cyberbullying if you are an adult
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(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

97. Social networking sites can be used by cyberbullies by stealing the identity of
their victim and pretending to be them

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

98. The solution to reduce cyberbullying is for parents to restrict their children’s
use of the internet and their mobile phones

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html
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Seventy years ago a girl discovered a strange skeleton in a tunnel in Mexico. All
that remains of the skeleton today is the skull. In 1999 the skull was given to Lloyd
Pye, an American author and researcher into an alternative theory of the origin of
human life. Since that time Pye has been trying to prove that the skull, named
‘Starchild’, is that of an alien. The skull is much less heavy than a human skull, has
an unusual shape and unusually placed eye sockets. It also has strange fibres
running through the bone. Various tests have been done on the skull, showing
that its bone has a different chemical composition from human bone. A DNA test
has shown that the mother of ‘Starchild’ was human, but the father’s genetic
heritage could not be recovered. Pye has concluded that ‘Starchild’ is a hybrid of a
human mother and an alien father. Some scientists are more sceptical and believe
that ‘Starchild” was a malformed human.

99. The skull of ‘Starchild” is much heavier than a normal human skull
(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

100. DNA tests have not disproved the theory that ‘Starchild’” was a hybrid of a
human mother and an alien father

(@) True
(b) False

(c) Cannot say

(d)
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Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

101. Some scientists believe that Pye is a fraud and that he has used the unusual
skull to try to further his theory of an alternative origin of human life

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Ebook.html

Bluetooth is a modern wireless technology named after an ancient Viking King,
King Blatand (which is Danish for King Bluetooth) who united the warring tribes of
Denmark and Norway in the 10th Century. Bluetooth was given this name
because it unites together many devices such as your computer, your personal
digital assistant, your mobile phone and your digital camera. The advantage of
Bluetooth is that it does away with the need for cables and communicates instead
by radio. All that’s needed is for each device to have a Bluetooth chip. To
communicate between the Bluetooth-enabled devices, all you need to do is put
them within ten metres of each other. The real advantage of Bluetooth is that it
allows you to easily synchronise data stored on your various devices. However,
there are some issues with security using Bluetooth, despite each device having
an individual ID number and PIN. To reduce this risk and to prevent
eavesdropping, the radio frequency is continually changed.

102. The Viking King, King Blatand, invented the Bluetooth technology
(a) True

(b) False
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(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

103. Bluetooth provides a secure way to communicate between your various
devices, such as your computer, your personal digital assistant, your mobile
phone and your digital camera

(@) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

104. Bluetooth avoids the 2.45 GHz radio frequency band for security reasons
(a) True

(b) False

(c) Cannot say

(d)

Answerhttp://www.aptitudetests4me.com/Buy Reasoning Ebook.html

105. Bluetooth-enabled devices can communicate with each other if they are five
metres apart

(@) True
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(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

Employees in the United Kingdom are now enjoying more holidays than ever
before. From 1st April 2009 the minimum statutory entitlement to paid annual
leave for workers has increased from 4.8 weeks to 6 weeks (based on a five day
working week). This is the minimum, but some employers may offer more — you
should consult your contract of employment. However, the employer can choose
when you take your holidays. The 6 week entitlement is for an employee in full
employment for a year with a five day working week, and includes public holidays.
The entitlement for part-time workers is calculated as 6 weeks times their normal
working week. Similarly, the entitlement for a full-time worker who does not
complete a year with an employer is worked out on a pro-rata basis.

106. From 1st April 2009 workers in the UK who work a five day week are entitled
to 30 days’ paid holiday per year of work

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

107. Employees granted long-term sick leave lose their full entitlement of paid
annuall
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(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

108. You have a right to take at least some of your annual holidays during the
summer

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

109. The annual leave entitlement of 6 weeks includes public holidays, but some
employers may give additional leave entitlement

(a) True

(b) False

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html
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While most forms of discrimination in the workplace have been outlawed,
discrimination or bias against some employees seeking career advancement still
happens. This discrimination is both unwritten and unacknowledged. A ‘Glass
Ceiling’ is the term used to describe this type of discrimination and refers to the
invisible barrier that people hit when they try to progress beyond a certain level in
some businesses and organisations. Originally coined to illustrate the hidden use
of sexual discrimination against women in professional environments, it is now
commonly used to describe any form of discrimination, such as racism or ageism,
which prevents qualified and experienced employees reaching the higher levels of
their organisation. Many reports and studies now suggest that change is
happening and that cracks are beginning to appear in the glass. The studies also
claim however that change is happening slowly and that the cracks are small.

110. A ‘Glass Ceiling’ specifically describes sexual discrimination in the modern
workplace

(a) True

(b) Fasle

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

111. Positive changes are occurring regarding discrimination in the workplace
(a) True

(b) Fasle

(c) Cannot say

(d)
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Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

112. The ‘Glass Ceiling’ can prevent qualified people from getting to the top of
their field

(a) True

(b) Fasle

(c) Cannot say
(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

The Flying Shuttle and the Spinning Jenny are two early 18th century British
inventions that revolutionised the textile industry. They increased productivity by
automating some key processes thereby reducing the amount of manual
operation needed. The Flying Shuttle, for example, raised the productivity of
manual weaving by around 50 percent by returning the shuttle automatically
meaning that one worker could do the work that previously had been done by
two. The Spinning Jenny invented a couple of decades later similarly automated
processes allowing one spinner to do more. Reducing the amount of manual
intervention needed for these tasks meant that they were more suitable for
adaptation to mechanical power such as waterpower and steam which had
become the new means of propulsion shortly before their invention.

113. Automating the production process of weaving was a necessary precursor to
the application of steam power

(@) True
(b) False

(c) Cannot say

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html


http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html
http://www.aptitudetests4me.com/Buy_Reasoning_Ebook.html

55
Reasoning EBook

(d)

Answer: http://www.aptitudetests4me.com/Buy Reasoning Ebook.html

114. The two inventions led to job losses in the textile industry
(a) True

(b) False

(c) Cannot say

(d)

Answer: http://www.aptitudetests4dme.com/Buy Reasoning Eb